
2. 

3. 

4. 

5. 

1 

ray (] mark) 

a) The electros9>pe is earthed thus the electrons flow from the leaf (3 marks) 
to the earth�his reduces the force of repulsion ,between the '0 Qrx
leaf and the plate to zero hence the leaf falls /_ - r,; (

v' -, v-.?. 
� 4G QC <'S<..1 C?, 5 

- Smoothing circuits

- Tuning circuits

- Delay circuits /

b) Dipoles of P arc aligned faster than in Q for the same

magnetizing field hence p had a higher magnetic strength in a
horter time than Q. ✓ •✓.-;

Takes a hortcr t me to get saturated 
h 1 a point on th principal axis wh r • mys parallel and close to
th Principal axi appear to divcrg · from after reflection ../

(I mark) 

(2 marks) 

( I mark) 
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e 

F 

, he, rd d from A and B�in

int rfi· ru·trocli e . the arrive at Q the

") 

mpcrature 

nsi 

ne correct 

O. Th A ny a( aminatio11 oun ii 

C, 

(I mark) 

� (2 marks) 

Turn over 
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Q = I 

= 2x2.Sx 60

= 300C 

b) Mor• Ii 1hl increases numhcr of photons hence mor photo-

I I 
13. avclcngths 

. 

� � 

14. 

Longer wavelengths can be re ected round hi

a) Conductivity increase . increase in temperature, increases the 

( mark.) 

c energy of the electrons benC electrons are able to cross

the valence band into the conduction band / d 0 12

b) (i) OA-�Stan�constant. \" Q o"(>h "'"', 

(ii) AB- R�ce · �ith current due to ?eating eff�t

of current. 
� """' 

(c) Voltage per lamp = �·
20 

:= 12V ✓i 

(d) (1·) �
2 

0.25A ( itk:ntical lamps)
Az = A3 

(ii) Bulbs na id;cctisa\-er have same r si. tan
e th urrenl through A, qually

Nado,..,E.u,,el 
231/2 

(2 marks)

(2 marks)

,., ,IW J 

(l mark)
(2 marks) 
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n 1,., ho n, n1fic. c.l u,v ,, cl 

real ,mag 

(c (i) Long sightedness
�\' "�

(ii) Convex lens✓
(iii) 

,._.r� 

✓<-�' 

(d) (i) Mark X at the point where U and V=20 cm�
(ii) (I) when U=V the object is at C

(II) 

:. r = 20 cm

r 20 {=-=-= 10cm
2 2 
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(1 mark
(1 mark)

( 2 marks) 

.{ 

�� 
so-

.r-

fre
e r

ev
isio

n c
on

ten
t a

va
ila

ble
 at

 w
ww.fre

ek
cs

ep
as

tpa
pe

rs.
co

m



(ii) No !,,.,, D

(jjj) From the Lcnz's law the induced current 11ow in the direction 

Such that it opposes the change causing it. Therefore, a· the north 

pole of the magnet approaches, end D bccomcs North Pole to repel 

the incoming North Pole 

(iv) 

Strength of the magnet/magnetic flux 

- Speed of motion of the magnet

(c ) Lamination increases the resistance of the core Lnce re i tance to the flow of eddy current. This reduce heating effectthu fficiency increases 
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fi rm d. 

Coun ii 

(1 mar ) 

( 3 marks) 

(2 mar

(1 mar ) 

2 mar 

urn 
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�"'

since �current 
CM�� � 

a radio-active substance (radiatio 

leakage point }H RH�Q.IN seep& out and a 

�,� c.. � '1� "' 
detecto ii ued le locate the peini .. fre
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